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1-The opposite figure represents the graph of a function

The range of the function is ..........

a) [0, o]
b)[0,2]
C)]-o, o]
d)]-o,2]

2- Which of the following relations represents a function?

a) Xx+y* =3
by x*+y=8
c) X +y* =25
dyx=5



3- The opposite graph represents the function

2
X< —4 3

f(x) =

xX+2
lim f(0) ... : /

a) Undefined

b)y=4
c)=-4
d)=2

2+C2

4- In the triangle ABC the expression bT o

a) cos a
b) 2cos a
Cc) sina
d) 2sina

5- Find the solution set of |[x — 5|+5 = x.



6- In the opposite figure \
lim f(x) ... 5
xX—2

a) =2

b) =5

c) =1

d) Not exist

7-fF-R"->R,f(x)=x-5andn:[-1,5] = R,n(x) =x-2,

Then find the domain of the function (f + n)(x).



8- In the opposite figure:

A
C= i, cm
75" 40°
C 10 cm B

a) 7

b) 10

c) 11

d) 8

3

9- Find. Tim Vx3 +5x+ 7

x>0 x2 44

10-1In the triangle ABC,
Ifa=7cm, m(B)=30", m(C)=105°



11- The solution set of the inequality:

x| + 2 < zero InR is.......

a) {-2}

b) {2}

c) ¢
d)]-2,2]

_ 3x* — 243
12- lim—=--.
x-»3 x—3

a) 81
b) 324
c) 4
d) 576



